~-sT
= 3 ~Lsvedd “re dF Rocx
_X: {+3e. dt +_L

Y lsedt]® \;-5"\ = s2 (3+6)
—6ce -—-5—;_ o
)

(s*-‘e\"

Rels\re [) RS)CO Lsvjwr-it]
~[a-hwltdle (_\_‘._\e. \

~-i¢ o
o7 o) =)

(s\ = (,_\e. , ~[s*) \
206 -i _(s-ywltde TS J -




@)  X= X,tXe

€0 An
%o + +3 d
® . e & ST ds=E04 [ )|
ST S Q) ds S=-o
¢, &
+ o2
% = t
+ 0
-
st st
© SR 4 L
<0 T 2 S
42° Xy = ’}iu ?(}*’é]q 34 Bens
-6 Fom i ¢
Ce <o o
“T¥ze) e, oY
=2 e
-\ —w sx\Woh
¢ *®£ © -=.A"- z >3 )
(h\ “=<o <O K Z‘L%L 9\‘63# A 15'\- \b\s ‘S
] e 2“)")
el e
x = Ces(“ﬁ*“
, + >o@ >
s =
x=2L0O. €as®
280 %
y t +e1>e {
4+\ o



3 (@) x@wa=-l, &‘X(s\e ds e
"4 S 3E
es*' ‘ C -
RH = G*\\‘S o2
+<o
— s‘- i
= L:‘.\E;"\ * (~\\;(s-e \S
(ea\&M s=o .
(b) #-teve i8¢ +->o
¥ -1 x\ =0
15 |
@& -e) <o esg‘- )
- a _:((‘;"l;}\—/ - ("\ [;;(—::i\ +¢
x= " T as (extillsHi-t o
=6



[_l 0
‘ &x st “
f aie +"«_2_: +§x}e At = f3e(:5 \\1;‘ -
© ()
1&»%6] = x(o\{SH') + %to) + 3
s+)

- x (o) [8++] X (o) -
" * ‘}(s-t-'z-c']

X
(s+z+i\(s+z-c\ (s sret
e Cural o< clhritn
+2° \“’ < QA x‘:‘cw‘l
-
L9
st y
xl
2,
AH = RSt (srert)|
x 3 eg'
Can RTARPE
—“+<0

X(H=o






¥Y2XH= Y =
* (s+2)(s-2) (3%5) m‘i KDG‘{\ Eocj

_2< %(s\¢2




